PROFESSIONAL EXAMINATION BOARD

Jail Department Recruitment Exam 2015

oth December 20035, 09:00 AM
Topic:- General Knowledge
1)

Question Stimulus :-

Who is the current speaker of Legislative Assembly of Madhya Pradesh?;ﬂtm
s & aewr i wtw §2

Krishna Chaubey/geom Jh
# H.S. Kamath/Ts T F1Ad
* Sitaram Sharma/d@aRH a#AT
* Sita Sharan Sharma/afiar swer a
Correct Answer :-Sita Sharan Sharma/sran 1o w# 1

2)
Question Stimulus :-

Where was Country’s first Ramayan art museum established ? /&% & 9§ THET &A1
HORTEE R T e o

* Bilaspur, M.P/ fwmayy, AW
« Indore M.P/ 22, AW

Damoh M.P/EHE, 79

» Orchha. M.P/3RST, AW
Correct Answer :-Orchha. M.P/HRST, 79
3)
Question Stimulus :-

At Dongliva village , Madhya Pradesh, what was inaugurated by prime minister 7/
E, ALOwEe, # wawHeEr o e sgmes R
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* 2 Shree Singaji Solar plant/2 =t =t 5 799
« Biogas plant/a/rte w47
» 2 shree Singaji Thermal power plant/2 #t Risht @ fege @
* Wind power plant/ 937 =7 #49
Correct Answer :-2 shree Singaji Thermal power plant/2 #it Fiorslt @ fBega #9w
4)
Question Stimulus :-
Swachhata Sangraam Abhiyan has the aim:/&voar ¥ #ae & 38T §

* To make entire Indore district open defecation free/T% 2R foer &t @ # ot wor &
Fa T & T

* To make entire Hoshangabad district open defecation free/q1 gnmaE B Wt qﬂr #
wta 6t & g9 T & AT

* To make entire indore disctrict garbage & sewage free free/q! 2l 5F =1 Fau 3k
A qET T & e

* To make entire Hoshangabad district garbage & Sewage free/ql e e 5t &=
st #w Hqww a & TR

Correct Answer :-To make entire Indore district open defecation free/qY it o & @a #
vt = @ ¥ o F AT

5)
Ouestion Stimulus :-
What i Igbal award given for? /EwaTa TFAT ek fav far s ke
» Hindi Poetry/ & sfam
* Urdu-Literature/ 3§ ®fiew
+ Critic/ Frara=n
* Music/ ¥l

Correct Answer :-Urdu-Literature/ 3§ wifies



f)

Question Stimulus :-
Karma is the folk dance of which state of India? / F&1 St & AT 0=7 =1 #F o0 §7
« Chhattisgarh/@=iwTg

* ASsam/ WEH

Uttrakhand/stouas

« MNone of these/=# & 1§ afl
Correct Answer :-Chhattisgarh=iEg
7)
CQuestion Stimulus ;-

Which of the following place is associated with “Subhash Chandra Bose"?/fFe=faf@a # &
Fh it SoTE gAY R W F A o g 8

« Cuttackfsew

* Kushi Nagar/sift =+

* Anand Bhawan/#i=ig ¥a=

« Sabarmati/farEdt
Correct Answer -Cuttack/sz®

8)

Question Stimulus :-
Who is famous as the melody queen of India?/ Ft7 swa 1 §7 #rrt ¥ a7 # Fwaw §7
+ Lata Mangeshkar /@31 FaeeT

* Asha Bhosle/amem sifas

Sunadhi chouhanrgmt <t

+* Sherya Ghosal/#Sam e



Correct Answer :-Lata Mangeshkar/@a1 #dwST

%)

Question Stimulus :-

Which is the highest Gallantry award of India? /s &1 Fatew diten @een #h7 @1 §2
* Pram Vir chakra/ste d7 o5
* Mahavir chakrafgEdR o%

* Vir charkra/dT T

* Republic day awards/ 30T @@ TR
Correct Answer :-Pram Vir chakrams 7 aF

10y
Ouestion Stimulus :-

Saraswati Samman Is awarded in the field of? /srest weam few o9 & w2 e =mar £2

Literature/midea

» Sports/dw

« Medical science/fafE= A=

Agriculture/sr
Correct Answer -Literaturesafieg

1)
Question Stimulus :-

Where is Lakhshmi Bai national institute of Physical education located ? /e frem &1
wedt ar T wETe wEl a2

« Gwalior (M.P. ) fass (A.5.)
« Indore (M.P.YEE (A.9.)

« Delhifaw



* Kanpur (U.P.}/F@qT (3.9.)
Correct Answer :-Gwalior {M.P. ymafaaT (7.0.)
12)

Question Stimulus :-

Who among the following Governor-Generals of India introduced modern civil services
based on separation of power? /3w & e ae-see & ®eon & farawor o st smyfee
fafes #a 1 wama F?

« Warren Hasiings.-mm

Lord Dalhousie/s# swgtst

* Lord Cornwallis/@E swaew
« Lord Ripon/@E o=
Correct Answer :-Lord Cornwallis/amd seiafas

13)

Question Stimulus :-

What did the Mohammad Anglo-Oriental College Later become?/AigeAz Trat #ifives swia
#rZ A W A= o ?

» Osmania University/senfarar feafgome
* Jamia-Millia Muslim University/siiaa Afag-gitaa fafegey
+ Baraktullah University/megrar vty
* Aligarh Muslim University/sdrg sifEss PRy
Correct Answer :-Aligarh Muslim University/siieg gites fafagama
14)
Question Stimulus :-

Who among the following annulled the Partition of Bengal in 19117 /F=tafea §# & e
1911 # Fma ¥ Framae &1 @ w1 fmne

* Lord Chelmsford /& sSraeE



* Lord Curzon/aTF Fae

* Lord Minto/#T8 &=

+ Lord Hardinge/sté gtk
Correct Answer :-Lord Hardingersid @i
15)
Question Stimulus :-

............ is Jallianwala Bagh Massacre Day/........... ATEAETET anr e B=w &)

o 11 Aprilii1 e

16t aprilne adw
s 13 Aprili3 e
« 18t Aprilig e
Correct Answer :-13™ Aprilf13 b

16)

Question Stimulus :-
Who was in favor of a party less democracy?/&9 1 29 ¥ diFax & o 7 =7 47
« Jai Prakash Narain/@¥ 9737 AT
» Bhupendra Nath Dutta/s¥y e Zen
* M.N Roy/T# T T4
« Jawahar lal Nehru/@aET A9 8%
Correct Answer :-Jal Prakash Narain's/T W% SHG0T

17y

Question Stimulus :-

Where was the 15" world Championship in Athletics held 7/rasfessw $r 1531 faey Afg=fg
wEl arfer & m e



* America/s#T=T

» China/d=

* Russia/t®w

* CanadalF=Ta
Correct Answer :-China/d=

18)

Question Stimulus :-

Where is the Headquarters of 0il Producing and Exporting Countries{OPEC) located ? /34w
Fees v frtEs gw (. . £ ) F aemer w i

s Vienna/fr=T
* New York/= I
» Parisifia
» Egyptfies
Correct Answer :=Vienna/froan

19)

Question Stimulus :-

Amjad Ali Khan Plays which of the following instrument? /& ag 3 &= BeT & & & o1
M AT TS #7?

* Sarod/®UE

*» Sitar /&R

* Flute/argi

« MNone of the above/ 53 & & =
Correct Answer -Sarod /¥3F

20)

Question Stimulus :-
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Which is the biggest bell in the world?/5F=1 # m=& ot ot = &t §7?
* Great bell at Moscow/ ®TFH! # iZ &W
 Silver bell at Egypt/fa & = o
* Large bell at London/=2s & ot o
* Giant bell at china/di= # fEwasT o
Correct Answer :-Great bell at Moscow/ AR # @ iw

)
Question Stimulus :-

At which place Facility for Domestic Currency Paper has been inaugurated by Finance
Minister Arun Jaitely ?/ =37 @@ 97 & v e sg o9 30 = 2015 =t e i sreor st g

seueA R T E?

« Bareilly/asT

Raibareilyraaizh

* Nagpur&EET{

« Hoshangabad/gnmmas
Correct Answer :-Hoshangabad/griamam
22)
Question Stimulus :-

When was the first 'International Non-Smoking Day’ observed all over the world? /9gat a7
w0 "Heard ywae e REw @ few & wemn wm am

+« 07.04.1988
= 08.02,1989

26.01.1950

« 2B.01.1950

Correct Answer :-07.04.1988

23)



OQuestion Stimulus :-

Jaitapur Nuclear Power plant is situated in which state? /Stamy owamw 5= @49 e 0 #
o &7

= Gujarat/ =

» Maharashtra/AgRTeE

* Rajasthan~ra+am

» Karnataka/saes
Correct Answer :-Maharashtra/@AgRTg
24)

Question Stimulus :-

President Pranab Mukherjee concluded his three-nation visit recently. Which were thase
nations?/regafe wore waalt o g @ 3 sweh A et o T woew A 2 e st e 92

+ Jordan, Sweden and Israel/atds, iz 3T samaw

» Malaysia, Palestine and Jordan/mafirg, ffasds st ards

- Indonesia, Jordan and Israel/EEafim, e 3 sov=a
* Jordan, Palestine and Israel/=tiw, reeds st s=amw
Correct Answer :-Jordan, Palestine and Israel/aEs, Wrfeeda iy gaama

15)
Question Stimulus :-

Which country's retirement system has been ranked last in the Global Pension Index

2015?/TF® &w 1 FArEgiea woEl ® TEEE e Huww 2016 # AW we R o g
» Denmark/&TATH
« India/a

« Sudan/gse
* MNorth America/serir arfe



Correct Answer :=-India/¥=a

26)

Question Stimulus ;-
What are the objectives of Parliament and Constitution? /7 3ttt sfitue & shw + 7
* Legal Justice/SrT g
+ Political only&ae mrr=ew
» Economic & Social Justice/sni® =g
» Social Justice only/Fae arfas
Correct Answer -Economic & Social Justice/s1flw =g

N
OQuestion Stimulus :-

Nomination of Rajya Sabha members by the President was taken from which country’'s
constitution ?/Trafy o e ¥ wEEdl F avaiee w1 TR & ¥ A @ T oo e

» U.S.A.ogFd =9 waiET
s Ireland/FraTde
*+ South Africa/zfror snfrer
* France/®d
Correct Answer :=Ireland/HTa{uis

28)
Question Stimulus :-

Who has written the famous play "Meel Darpan” depicting the atrocities of British indigo
planters? /frast witig aes e oo & Ry & ame o=t & oot = feor G 2

* Prem Chandidw o%
* Bankim Chandra Chatterjeerafés o7 T=it

* Dinabandhu Mitra/d=y e



* Subramania Bharati/geravy T
Correct Answer :-Dinabandhu Hitram o

29
Question Stimulus :-

What is The book "It was Five Past Mid-night” about? /"5 317 = e e &w ov
Fmnfr &7

+ Bhuj Earthquake/s{s 3#q
* Orissa Floods/Zfam ag
« Andhra Cyclone/S T%ama
+ Bhopal Gas Tragedy/simre #w wredt
Correct Answer :-Bhopal Gas Tragedysitoe d& st
30)
Question Stimulus :-
Who is author of the book 'Kamayani'? /5% 'SHEA & d&@s =i §7
+ Mulk Raj Anand/F&F{r= HTHE
* Prem Chand/%#aeg
* Jai Shankar Prasad/@g it 015
« Randhari Singh DinkarAorurt R B
Correct Answer :-Jal Shankar Prasad/S9 %7 791G

Topic:- General Hindi
1)

Question Stimulus :-
=t # 3R Aty ey W Al mnTh wEaTh B

o firamr

» AT



o TR
» I
Correct Answer ;-fasma

1)
Question Stimulus :-
Fugd 1 faraeh fdrra @l #
. ot
o T
* U
. T
Correct Answer :-die
3
Question Stimulus :-
AEHA e F AGA Fifere-

. FAU

Correct Answer %2l

4)

Question Stimulus :-

aHtdt & aemw -
0]

o it

1= Original.



» 3t
* 3
Correct Answer -3t
5)
Question Stimulus -
et # @ ot & Fw R 3
+ 50
s 51
» 52
» 55
Correct Answer :-52
6)
Question Stimulus :-

o Rereat # F Rt v Y 3t g €, w39 Al

Correct Answer :-wafas

7)
Question Stimulus :-

faer Rwedt & & o T & 9ga fifaT-
« 3FA FAY TET e sk = 'mm
« 38 FAN A5 o A o w



» IWA FAN WE fAeE A ad @

o FEe ga wEt frerd and st o @
Correct Answer -39+ gAY 78 e and st o =
8)
Ouestion Stimulus :-
AfFelw o & fd 9% A9 B o Reed # # a9 § w1 g S
“afee 3w @g ¥ T =l

» Fq AT

o & AT

* WE AT

.« FFT T
Correct Answer (-3 ameg

9)

Question Stimulus :-
e & e §-

o T

» FfEw

» fAfdy

» ffdy
Correct Answer -3FY

10)

Question Stimulus :-

e oA & wee-geA & T w1 gIa -

Fafer-zamdt
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+ IUEA-IEUE
s ITUEE-TAE
* TE-U%
» TZ-3UEE
Correct Answer :-UZ-3U8F

11y

Question Stimulus :-
Taamd aFat warpt Mg T sraugarg. ag_ Fga £
» WTT HTOE HET
» FAF TEE FAW
s Fd AES HA
» FEA ATOE WA
Correct Answer :<31fa ara® H#A7

12)

Question Stimulus :-
‘wemea # wf geh-

» AU R

» TUT FET

» FORE

o &=
Correct Answer -3 87

13)

Question Stimulus ;-

o s 92 & 30av 9 Y TUHaT 81 3 e HHTH FEd £l



et o
s FHURY
TRy

* WY

Correct Answer :-gfa

14)

Question Stimulus :-

T T & oS- & et F ¥ v -9 1 93w ffS-

HHA=- A

o Hrr-srEa

o FER-HET

s HiaA-Tase

»  HTHE-HAH
Correct Answer =<Hraa-fHe
15)
Question Stimulus :-
‘FeEA # I §-

. T

* 37

. IH

* 3
Correct Answer =57
16)
Ouestion Stimulus :-

Freafafle aora-aae & ¥ st Reer R

nformation provided her



« FAIr-AT
o FeE-TTET
. ataTar
o §H X FE adl
Correct Answer &8 & F§ =4t

17)

Question Stimulus :-

frerifa & # &t @7 s Fa vow @ §7

Correct Answer :-‘fl;!!T

18)

Question Stimulus :-
‘Tt 1 eafarat &1 Feanor v
« AT
¢ T
. g
. ATEET
Correct Answer :=&eq

19)

Ouestion Stimulus :-

e & & S vw gow Rwids T §2



¢ o
» Frsfferwsi
. TS
s FET-HTET
Correct Answer :-Rrfor-gior

20y

Question Stimulus :-

o aree-grA & Rawedl # &9 oF oo ol A §, @ g @ aae aife-

B
o HR-ger
» Fa-wiE
& Har-HeEr
Correct Answer =HT-gd
21)
Ouestion Stimulus ;-
wHeT & fAedT g
» HH+ITEY
s FH+ITHEY
. EI'I_!"E!H-“
« FA4+I=ET

Correct Answer -FA+304+99

22)

Question Stimulus :-

e e oA 7 IEmw B



lni'm
. W
o WEEET WIS

Correct Answer :-iga‘iﬁ

23)

Ouestion Stimulus :-
o8 oF ft weg F Ies 3§, @ weee b
» IUAT HEFH
+ quifeaT FEER
» 4EE HEEHH
s TAF AeSH
Correct Answer ;389 HE®T

24)

Question Stimulus :-

SET T, T 3T 707 Y FAAT F FROT T T F I@HT Feig gian g, 81

o

» WIFTAA T 57 2E

Correct Answer :-Hvog
25)

Ouestion Stimulus :-



“ITO HT TATgaTd §-
+ 39EA
-
s HAN
» el
Correct Answer =3

6)

Question Stimulus :-
“HE WwAT HETar w1 wE i
» FHA T
» HET AT
» T FT
o« ATEH el
Correct Answer =91 g
27
Question Stimulus :-
“FAHT WA FAEAT e @ W qgEt o §
» FEAT T
s FEW w A g
» TF-UH FAT EEAT
o BT & W A
Correct Answer 578 & &1 i

i8)

Question Stimulus :-
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“grer A & 8 o st @it w el et 2

» gfErat & s ST

* FAW Wgfed I @ TF gEL F wAw d

« uuft aro=h wTe == wEET B

o gigrat & T A

Correct Answer -8 WHiea T € 05 g8 &1 9% §1

29)

Question Stimulus :-

“TR-TR AT W @R & R a -

o FT O FAW B E

s T GoF 9T FOTE & Avar = A9

s GRS AR S T A T T EE §

o wrdh o Procrrdt & oadn B

Correct Answer 7% o4 ard smowa & 7mr JFF 33 B

30y
Question Stimulus :-
matfre ardte wewar wte-m §7
s
. TH
. FEiEd
* WEEmH
Correct Answer :-T#

Topic:- General English
1)

Ouestion Stimulus :-

the original.



__ being fined, he was sentenced to a term of imprisonment.
* since
+ along
+ beside
* besides
Correct Answer :-besides
2)
Question Stimulus :-
We travelled __ Mr. Mehra's car.
. by
« with
« in
« at
Correct Answer :-in
3)
Question Stimulus :-
Pick out the appropriate word to join the two sentences given below.
The soldiers were struggling very hard.
They refused to give up.
# and
* since
« while
* but
Correct Answer :-but
1)
Ouestion Stimulus :-

During last 67 years of independent existence, India has withstood the



ravages of time and has upheld its identity as an independent, strong and
self-reliant nation.

What is the meaning of word ‘ravages’ in the passage ?
+ Advent
* Succession
+« Destruction
*« Creation
Correct Answer :-Destruction
5)
Question Stimulus ;-

It is very unfortunate that economically resurgent India still remains
home to the world's largest population of poor, hungry and illiterate
people .

What is the meaning ‘resurgent’ in the passage ?
+ Declining
« Rising
* Descending
« Depriving
Correct Answer :-Rising
6)
Question Stimulus ;-
Pick out the appropriate word to join the two sentences given below.
She was annoyed.
She kept quiet.
" 50
* since
* because

« yet



Correct Answer :=yat
7)
Question Stimulus :-
______ words spoken in earnest will convince him.
« A few
= No
* Little
* Few
Correct Answer :-A few
8)
Question Stimulus :-

I have never a horse before.

* ride

* rode

* rides

* ridden
Correct Answer :-ridden
9)
Question Stimulus :-

The show will be on TV worldwide.

* broadcast

+ broadcasted

+« surely broadcasted

+« timely broadcasted
Correct Answer :-broadcast
1)

Question Stimulus :-



Find the word which is most similar in meaning to the given word.
Demolish.
* Create
* Repair
+ Construct
* Dastroy
Correct Answer :-Destroy
11)
Question Stimulus :-
Find the word which is most similar in meaning to the given word.
Delicious.
+ Distasteful
+« Inedible
= Tasteful
+ Unpalatable
Correct Answer :-Tasteful
12)
Question Stimulus :-
_______is he honest ___ sincere.
« not only, but even
+ either, nor
* neither, or
+« neither, nor
Correct Answer :-neither, nor
13)
Question Stimulus :-

He was hurt ___ scared.



« Hardly, when

+« not only, but also

* a5, as

« s0, that
Correct Answer :=not only, but also
14)
Question Stimulus :-

He is the same man has stolen my purse.

« which
* who
* that
« whoever
Correct Answer :-that
15)
Question Stimulus :-
Replace the underlined phrase with a single word.
My brother found out that her wife had been planning a surprise party for her.
» knew
+ guessed
« revealed
+ discoveraed
Correct Answer :-discovered
16)
Question Stimulus :-
Replace the underlined phrase with a single word.
The lawyers looked over the papers carefully before questioning the witness.

» axamined



+« discarded

= arranged

+ prepared
Correct Answer :-examined
17)
Question Stimulus :-

Find the word which is opposite to the highlighted word from the given
options.

Guilty
+« Innocent
* Sinful
+ Evil
* Culprit
Correct Answer -Innocent
18)
Ouestion Stimulus :-

Find the word which is opposite to the highlighted word from the given
options.

Humble
+ Rejected
* Proud
+ Disappointed
* Poor
Correct Answer =Proud
19)
Ouestion Stimulus :-

Find the word which is opposite to the highlighted word from the given
options.

= : The informetion provided here is only for Reference.It may wvary the Original.



Clarity

« Exaggeration

+« Candor

« Confusion

+ Reserve
Correct Answer :-Confusion
200

Question Stimulus :-

Find the word which is opposite to the highlighted word from the given

options.
Conform

+« Disappoint

* Differ

* Dissolve

* Postpone
Correct Answer :=Differ
21)

Question Stimulus :-

Find the word which is most similar in meaning to the given word.

Exhale.

* Breathe in

* Breathe out

* Breathe

+« Inhale
Correct Answer -Breathe out
22)

OQuestion Stimulus :-

Iy for Reference.It

the original.



I was very angry, I did not scold him.

« and
*  while
= still
* that
Correct Answer :-still
3
Question Stimulus :-
I am short of money, I will give you some.
« SO
* therefore
= unless
= still
Correct Answer :-still
4
Question Stimulus :-
You borrowed money from me.
* may have
* might be
+ must
+ could have
Correct Answer :-could have
15)
Question Stimulus -
You left a message.
* should have

+ might be



* must

* may have
Correct Answer :-should have
26)
CQuestion Stimulus :-

She a car two years ago.

* bought
* has bought
* have bought
* had bring
Correct Answer :-bought
¥
Question Stimulus :-
I from college just then.
+ returned
+ has returned
* had returned
* have returned
Correct Answer :-had returned
28
Question Stimulus :-
Mala heard a the door.
#« knock on
* knock into
* knock through
* knock in

Correct Answer =knock on



29)
Question Stimulus :-
He is a nothing fellow.
+ good for
« good at
* good in
+ good from
Correct Answer :-good for
30y
Question Stimulus :-
He is classical music.
« fond off
+ fond of
= fond in
» fond at

Correct Answer :-fond of

Topic:- General Maths
1

Question Stimulus ;-

The difference of two numbers is 1660. If 7.5% of one number is 12.5% of the other
number, find the greater number. / & #ZaAt ®1 39 1660 § | 7% v F&m w1 7.5% g@ir

HET § 12.5% & @vew ¥, af wua A w1 |
4500
« 4100
« 4150
« 4050

Correct Answer -4150

2)
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Question Stimulus :-

Suman's salary was decreased by 50% and subsequently increased by 50%. How much
percent does she lose? / §#= & ¥77 # 50% 1 F# g¥ 3 a5 7 50% i gfx §F o 7 Ba=r

uferere #r gl 5‘!’?
« 3584
* 30%
* 25%
« 20%
Correct Answer :-25%
3)
Question Stimulus :-

Paulson spends 75% of his income. His income is increased by 20% and he increased his
expenditure by 10%. Find the percentage increase in his savings. / 9@8" & H9=lt 3T =7

75% ¥ AT | FAR A # 20% 3y gf ¥ o sww orw & 10% € gfE gf b 3wl awa A
IR =1 wfrwa W w0

 10%

s 25%

» 37.5%

s S0%
Correct Answer :-50%
1)
Question Stimulus :-

2 11

If 10 = then find the value of x. / TTE 10

1?1 Al x &1 A A7ATd H4 |
* 55
+ 3.3
« 110
+ 5.5

Correct Answer :-55



5)
Question Stimulus :-

A lent Rs.600 to B for 2 vears and Rs.150 to C for 4 years and received Bs.90 as interest from both.
Find the rate of interest, SI being calculated: / A, BRI s F2a¥F RTIRCFNIS0T 499 F

Ao s A I E= & 00 F =T F T F ureq ST €| 5 7 27 79 F1, YT &= Y
aroraT T8 B

« 5%

» 10%

» 8%

. 4%
Correct Answer :-5%
6)

Question Stimulus :-

L
The 51 on a sum of money is 5 of the principal and the number of years is equal to the rate percent

per annum. Find the rate percent. / e nﬁrﬂmmﬁrm EFIEFHIT It Y Fear S
i i ax A &1 &3 w5 e e F

. A%
* 3%
. 4%
. 3%:%
Correct Answer :—J';'%
7
OQuestion Stimulus :-
Graphically the pair of equations
Bx-4y+10=0
2xX-y+9=0

represent two lines which are /



FeET ' O#
Bx-4y +10=0
2x-y+9=0
walrwort &1 geer & e Frele s b oSt
» Intersecting at exactly one point / &% % farg W wfasds s §
* Co incident/ st &
+ Parallel / waTat &
» Intersecting at exactly two points / 8% 2 Rrgat o1 sfaede s §
Correct Answer -Parallel / @€

8)

Ouestion Stimulus :-

The pair of equation 2x + 4y + 10 =0 and —6x — 12y + 2= 0 have / THFIOT 2x +4y + 10=0 3R -
bx— 12y +2 =0 &FLTH

* A unigue solution / 1 % sgfad ga §
» Exactly two solution / & &% 2 g7 &
« Infinitely many solution / ¥ sviifffr mwd s aw £
* No solution / ®1 ®r§ g 7t ¥
Correct Answer :-No solution / &1 #1§ gar ot

9)

Question Stimulus :-
Which of the following is a quadratic equation? / frafafés # & st girae FdwT &2

s xl+2x+1=(d-x)2+3

2
" _.312={5...x] [3}: = E]

ed here is only for Reference.It may wary the Original.
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3
s (k+1)x2 + 2x =7, (where/ 78 k=-1)

o« 2_xt=3x?+5
Correct Answer :-2x° —x? =3x2 + 5
10y
Question Stimulus :-

If 2 is the root of equation x? + kx - 10 = 4 then the value of k is / aff weferor x2 + kx -
10 = 4 FT vF {7 2 § @ k F1 A= g

. 2
. 172
+ 5
= 1/3
Correct Answer :-5
11)
Question Stimulus :-
Find the distance between the points (4, 5) and (13, 9)/ 75 (4, 5) 3R (13, 9) F A= Fr gl FA wV
. V97
V&8s
. 169
. 125
Correct Answer :-“"ﬁ
12)
Question Stimulus :-

How many lines can be drawn passing through two given points? / & Rigat & aar arel
el T dh o awd §2

« One/ TH

= : The informetion provided here is only for Reference.It may wvary the Original.



. 'l'wnfE‘T
s Three &=
+ Infinite /¥d

Correct Answer =One/ T

13
Question Stimulus :-

In an isosceles triangle, if the unequal angle is twice the sum of the equal angles, then
the largest angle is: / o% g@gfaay Bye # oF sraaw #1069 & AW SO0 F @ S S §oaw
AW qE7 wT B :

« 1207

« H°

« 30°

« O°
Correct Answer :=120°
14

Question Stimulus :-

The measures (in cm) of side of a right angled triangle are given by consecutive
integers. Its area (in cm?) is: / v Fw=r fge $r gonat & 79 @ & wow qoiT F g
mE ¥ Iwer g5wR 3w g

« 0

8

s 5

» 6
Correct Answer :-b
15)
Question Stimulus :-

The area of a rectangle whose length is 5 units more than twice its width is 75 square

t may wary the Original.



units. What is its width? / = 3rga ¥ gwwa Fadr arad soh ohed & v & 5§ wfts &,
75 T &wrE ¥ gwe wiE w4 §7

. 3unitsfﬁ$iﬁl'§
» 5units /5 5HTE
« 7 units / 7 §HTS
o 10 units / 10 FHF

Correct Answer =5 units / 5'5'%1?

16)

OQuestion Stimulus :-

IT the diagonals of a Rhombus are 16 ¢cm and 12 em, then the area of Rhombus is: FW'ﬂ'ﬂ'ﬂqliGl'
& famot 16 FHT 3 12 99 & §, o ww T W dEwa

* 48 sq cm [ 48 TH FH
. %sqcmfﬂﬁﬂﬁﬂiﬁ
« 192 sq em / 192 T FHT
« 08 sq cm /98 T At

Correct Answer :-96 sq cm / 96 97 FHT

17)
Question Stimulus :-

Two towers face cach other separated by a distance d = 35 m. As seen from the top of the first
tower, the angle of depression of the second tower's base is 60° and that of the top is 30, What is

the height (in meters) of the second tower? / &1 T % AL & d = 35 A gft 1 Pwa 1 wger 2y
& IO F TW I L T F HTUR 1 1A/ 107 60° 3T 5o By #7300 ¢ g@y e

Fard (#frex ) T gt
. 7003

™ 35".-?



. 3573
. 70V3
Correct Answer :- 'a‘l[h'*'i

18)
Question Stimulus :-
Evaluate: tan 1" tan 2" tan3".... tan 89"/ mﬂ: tan 17 tan 2° tan3".... tan 89°
s
o -1
. 2
. 0
Correct Answer ;-1
19)

Question Stimulus ;-

X" :

If xsin 45° = y cosee 30°, then 2* is equal to: / TR xsin 45 = v cosec 30°, T

| %

TTET EI:

Correct Answer :- 4%
200

OQuestion Stimulus :-

IfA=4{1,23,4}andB = {5,6,7, 8}, then AnBis: /T A = {1, 2, 3, 4}
3 B = {5, 6,7, 8}, 7 A BEm

"y
* 156,78

= : The informetion provided here is only for Reference.It may wvary the Original.



* 4

» None of these. [ B3 & ¥ 78|
Correct Answer =g
1
Question Stimulus :-
In a group of 100 people 70 can speak French and 50 can speak German. All the people

speak at least one of two the languages. How many people can speak both the
languages? / 100 & & vs &y # 70 vt # @ & @ § o 50 9w # @m0 Fwa § W

Arr et st F F ww F oww ovw v grea § R wvr g st i A e w2
« 10
. 20
= 30
o 40
Correct Answer :-20
12)

Question Stimulus :-

The range of the function f{x) = |1 + x|~ 7 is: / WA f{x) = |1 + x|- 7 F1 7RI FW:
¢ (-7,x)
¢ (=F,—=)
o (7, 5)
. (1.~
Correct Answer :=(—7, «)
23)
Question Stimulus :-

If f{x)= 2xv10 then the value of f{x=2) is: / AT Mx)= w10 AR f(x=2) BT AR JHT:

X -4

= : The informetion provided here is only for Reference.It may wvary the Original.



Ix=4
Correct ANSwer (=ix-g

4)
Question Stimulus :-

A jar contains only red, blue and green marbles. The probability of picking a red marble is 0.25,
the probability of picking a blue marble is 0.410. The least number of marbles that could be in the

jaris? | TF AR H Faq o, A e T w2 E v s 59 5 P SrofRwareas
TH A T F FT F A A TREF 040 ) TR A A e Fa g Ewa g

. 4

. 5

« 10

« 20
Correct Answer :-20
25)

Ouestion Stimulus :-

The probability that it rains on day 1 is 0.4 and the probability that it rains on day 2 is
0.7. What is the probability that it rains on both the days? / aff 75+ = oot @ & wifar

0.4% 3T gET e 07§17 2t e ot @| fr widsen Fm g
« L4
s L7
+ .28
= IL56
Correct Answer :-0.28
26)

OQuestion Stimulus :-

Find the median of the series | =T doft v ATfCa=wT ATa =1



10, 8, 16, 24, 26, 6, 14, 20, 15

« 13

Correct Answer =15
T

Ouestion Stimulus :-

If the mean of 2, 3, x, 4, v, 10 is 10, then x + v is equal to:/ AT 2, I 4.y, 10T HTET 10 t ddx+y
A g

« 51
Correct Answer :-41
28}
Question Stimulus :-

Twice the square of a number is six times the other number. What is the ratio between
the first number and the second number? / T% W& & T4 & AT GA{ F641 & & A &

T ¥ wEedt Fewm st gEh dEm s e = g

« 14

+ Cannot be determined. / T 721 fFar s a=ar

Correct Answer :-Cannot be determined. / Fraifa 78t frr s a9

9

Question Stimulus :-



-3 5

Find the 11" term of an arithmetic progression : -5, =, 0,: | FATGT Koft : -5, i 0, EEI'TI' nai o §:
. 220
= 20
« =30
= 30
Correet Answer =20
30y
Ouestion Stimulus :-

Find the first four terms of an arithmetic progression, whose first term is =3 and the
common difference is 3. / 30 & 49t & god oW 9% A9 WiEe, Bae vow o -3 Al

AT -3 §1
« 3,036
s —3,6.-9,12
s =3—-6-0-12
.« —3,—6,-12,-24
Correct Answer - —3,-6,—9-12

Topic:- General Science
1)

Question Stimulus :-
During photosynthesis, the oxygen in glucose comes from?/ WETe FIAYT &
2R Tepter # safPure sfreeiorT srop aree g §2
« Water/3d &
* Carbon dioxide/ FTd SFHTFATFT &
* Both from water and carbon dioxide/ w 79T FH+ sHITFAET AW &
+ Oxygen in air/ TAYSHE Hiwde @

Correct Answer :-Water/3d &

nformation provided here is only for Reference.It may wvary the Original.



2)

Question Stimulus ;-
A catabolic process is 7/ woodt sfofrm §2
« Absorption of minerals / @fa= =t 51 smieer
+« Ascent of sap / TaEHRET
* Respiration/ @8=
» Assimilation/ =T
Correct Answer :-Respiration/ 38

3

Question Stimulus :-

Which of the following is connected with transport of water in plants * PR A ¥ T e & F+
& wags o aToa &7

» Phloem/ Wiy
+ Xylem/ agwH
« Epidermis/ ¥fras
« Cambium/ 7ur
Correct Answer -Xylem/ Fga
4)
Question Stimulus :-
Contractile vacuole of Amoeba takes part in?/37#ran # ggaaha RiFam @ a4
« Locomotion/ sso
+« Digestion of food/ 99+
» Ingestion of food/ ¥=adEo

« Osmoregulation/ e fFgae



Correct Answer :-Locomotion/ swer

5)

Ouestion Stimulus :-
Photoreceptors are present in-/ w=nr s34 # Fwa g #=
*» Eyes/ &4 &

+ Mouth/ A& #

Ears/ #vf &
» Brain / Aftass &

Correct Answer :-Eyes/ a9 &

6)

Ouestion Stimulus ;-

Multiple fission occurs in?/ Tgfraves et aran s #2
» Plasmodium/ swrsatfTs

+ Paramecium/ Sofafis
+ Bacteria/ Sftam]
» Euglena/ gFdm
Correct Answer :-Plasmodium/ sa=aifEas
7}
Ouestion Stimulus :-
Who is the father of genetics ?2/3mqaifdy & sorw #ta €7
* Morgan/ AW
« Mendel/ #v3w

« Darwin/ =fd=

Hutchinson/ gf=we



Correct Answer :-Mendel/ #vss
)
Question Stimulus :-

The reason for excessive generation of waste is 7/ Fofireet & wfhwaw seoes & v T aR §?

Use and throw policy/ 39t w2t 3itt Y e
* Increased availability of food/ 3w #1 3cofrs ITaeean
* Non-utilization of all components of food/ Hraw & Wt sl # FqTANAT
* Increased construction of wastes/ ¥UTeree! foafor # gfy

Correct Answer :-Use and throw policy/ Fanr &0 sitt ! drsen

9)

Ouestion Stimulus :-

Mild grazing in grasslands by herbivores causes ?/TEHTETRAT GART OTH T A Heq=RoT & 47
gk

* Retards growth of grasses/ =t #1 R aew gt #1
» Stimulates growth of grasses/ =rEt #1 gfg seufta o=t )
+ Destroys vegetation/ IAFITH g1 8 &1
« Arrests growth of grasses/ T8 Y Rz &5 STl ¥
Correct Answer :-Stimulates growth of grasses/ uret # afx seif gt 1

10)

Question Stimulus ;-

Who discovered the cell?/ @I $1 1 Bt

+ Robert hooke/ i# g%

« Purkinje/ QUfeat



* Robert brown/ Ti=& T3
« Davson/ EaHA

Correct Answer :-Robert hooke/ % g
1)
Question Stimulus :-

The forces of action and reaction have magnitude but
direction?/ 5w = wfiafem IRATT e § e foan Tae #7

* same, same/ TAW, AW
* same, opposite/ ¥AE, i
+ opposite, same/ @wim, T
* opposite, opposite/ falm, fBaha
Correct Answer :-same, opposite,/ @a=, fodm
12y
Question Stimulus :-
Work done upon a body is-/t% five oy fFr T &1 §-
* a vector quantity/ o= wiEw Tfar

* a scalar quantity/ T afEwr ofer

= a vector quantity and a scalar quantity both/ T Ffewr Tfer 3ty v wfzwr ofir =t

*» none of these/ g=i# & &t§ wft
Correct Answer :-a scalar quantity/ o= #fger ofer
13)

OQuestion Stimulus :-

Which of the following is not the unit of power ? /"= # & sladt affa &1

gFTE ft B2

« 1/s



» Watt/afe
s kifh
* kWh

Correct Answer :-kWh

14)

OQuestion Stimulus :-
When an apple falls from a tree:/ 3% o% @@ 6 935 & oo &

» only earth attracts the apple/ o« qudt 39 &t wsfea st §

« only apple attracts the carth/ Faw 49 Tedt FY HHea Ftan &

» both the earth and the apple attract each other/ #¥ @ et &% v g@Y & W&l Fa
¥

+ none attracts each other/ ®1§ #f v% ZRY ¥ Fwia a8 w3 &

Correct Answer :-both the earth and the apple attract each other/ ¥& ¥ goft =1 o gal &1
WFET 0

15)
Question Stimulus :-

The orbits of planats around the sun is: /3% ¥ ot 3w et #r waw gl &

= circular/ JeaTRR
» parabolic/ TS

elliptical/ €nigeamr

straight/ @nfr
Correct Answer :-elliptical/ Ehgramsr

16)

OQuestion Stimulus :-

A sound wave travels from east to west then in which direction do the particles of air move—/ Tt



tafe a0 O & 9ftww 1 3 af w3 ¢ o e R A gar S s afa w60
+ East-west/ qd-affws
* North-south/ Feee-gfémr
* Up and down/ F97 #
» Mone of these/ &8 @ ¥ 7l
Correct Answer :-East-west/ yd-uffon

17)

CQuestion Stimulus ;-

When a glass rod is rubbed with a picce of silk cloth then rod </ FAFT R EEF A ST FEE

wEaEaree-
= and the cloth both acquire positive charge,) YT H93T gty ST AT )

» becomes positively charged while the cloth has a negatively charge/ u=mafira g @t
¥ Fum womafiE #@ awer §

* and the cloth both acquire negative charge,/ 7uT 921 2= Homay #fET & & #

* becomes negatively charged while the cloth has a positive charge,;/ womafia g = &
T SO gt & @ §)

Correct Answer ;-becomes positively charged while the cloth has a negatively charge/
v i & et ¥ A som wodfEe & I b

18)

Question Stimulus :-

The branch of scicnce concerned with carthguakes and related phenomena is called?/ formmer 1

AT e s s weafeu aftaeenst @1 srerae e § weendh §2
* Electrostatics/ Teavdggfadr

= Optics/ THIEAT

« Sgismology/ mﬁiﬁ



« Geology/ WHifEEr

Correct Answer :-Seismology / IE'T':I' s

19)

Question Stimulus :-

Stars are mainly made up of -/a% HEA: e a= B B-
+ oxygen and hydrogen/ sitsdtas a0 sEgtas &
+ oxygen and nitrogen/ ¥reftae Fm awdee ¥
* hydrogen and helium/ sg=m a1 ffoan F

« water and helium/ = 37 fifgow &

Correct Answer :-hydrogen and helium/ gsgtas o fifegs §

20)
Question Stimulus :-

The smallest particle of matter is ?/ "TEr F=1 @EE o For g2

» an electron/ TF FoFEle

* a proton/ TF WiEW

* a neutron/TH Fq;"h
* an atom/ TF TTAT
Correct Answer -an atom,/ T STAT]

i

Question Stimulus :-

Polymerisation in which two or more chemically different monomers take part is called /0HT

wmﬁmatmmﬁmxmmﬂﬁtmﬁ
+ Addition polymerisation/ T I'giﬂiﬂ'ﬂi

* Copolymerisation/ FgagamETeT

formation provided }



» Chain polymerisation/ s@ar agefFor
« Homopolymerisation/ m‘g‘:ﬁiﬂw

Correct Answer :-Copolymerisation/ a‘s‘l‘g‘iﬁﬁm

22)

COuestion Stimulus ;-

An example of a natural biopolymer is-/ F=Aa 'ﬂ'l‘fﬁ?i #ﬁ‘-ﬁ'g'ﬂﬂﬁﬁ'l IEEAM -
« Teflon,/ &wAlA

Neoprene/ Fraird=

Nylon-66/ AEH=-66
« DNA/f TR T
Correct Answer :-DNA/fr o T
iy
Question Stimulus :-

Drawback of DDT as pesticide is?/ DDT &T AT & 9 7 TI0T F & 47 600 grel
i

» It is less effective than others/ aF gt ¥ &o wurdht §

s It is not easily /rapidly degraded in nature/ oF WSid # o= @ a7 ad g #
+ Its high cost/ W& 770 7T ¥

« It becomes ineffective after some time,/ TF ¥& 77 T1E Fwdr & 7 §

Correct Answer :-It is not easilyfrapidly degraded in nature/ aF wSfa # smanw & &g 7@ g
¥

24)

Question Stimulus :-

The gas released in Bhopal tragedy was>/S1oTe dw smdt d eff@a d a e de s ae g3
qr?



*« Phosgene/ Wi

mic/ #ffre At aEae
+ COCI, [ Frafee (nFanEs

None of these/ & o &t
Correct Answer :-MIC/ ATa Jgw! AEwe

25)

Ouestion Stimulus :-
In unsaturated compound have -/ Jm'?ﬁr i & qran = #-
* Carbon - carbon double bond/ #EA- HaA-g ey
« Carbon - carbon triple bond;/ FE=- FH=A-TEAT
+ Carbon - carbon double and triple bond/ ®H=-FTiw-Zfy Fur ey
+ Carbon - oxygen double bond/ FR-sfedraa-gfaey
Correct Answer :-Carbon - carbon double and triple bond/ FRw-FHa-gfa a4 fweg
26)
Question Stimulus :-
Which one of the following LU.P.A.C. name is correct?/ o= & & #la@r LUPA.C. AR 5 &2
» 2-Methyl-3-ethyl pentane/2-#ffw-3-tfiw de
« 2-Ethyl-3-methyl pentane/2-vfia-3-aftw 92
*+ 3-Ethyl-2-methyl pentane/3-ufiw-2-3faw 9=
» 3-Methyl-2-ethyl pentane/3-#fw-2-vfw $2a
Correct Answer :-3-Ethyl-2-methyl pentane/3-vfiw-2-3f0w &=

7)

Question Stimulus ;-

Decarboxylation of isobutyric acid leads to?/ TS SEERF IFd F AwmifFafasor & oo


https://www.recruitment.guru/

gham?
» Isobutane/ HTgdT =EA
* Propane/ W=
* Butane/ &=
* Mone/ F1§ ft
Correct Answer :-Propane/ W=
28)
Cuestion Stimulus ;-

Eleetronegativity of the following clements inereases in the order?/ e ot ﬂ'ﬁw EGIET]
T TF A &7
s D=N=<S<P
* P<S<N<O
*+ P=N=<S5S<0
«s S<P<N<0O
Correct Answer =P < S<N< 0O
29)

Question Stimulus :-

An electrovalent bond or ionic bond is formed hetween: /T8 dgga waTsl a9 a1 3rafers au frad
HEY Tl -

+ Two electronegative atoms/ &t gyt wawEt & Aug

+ Two metalsﬂ.’l‘ﬂﬁﬁ & Avy

* Electropositive and electronegative atoms/ fegaud aur Fegaseft Rt & oy
+ Two electropositive atoms/ & faggaudt st & #er

Correet Answer :-Electropositive and electronegative atoms/ Regausft aur Ragash m'rnpl’i
& A



30y
Question Stimulus ;-

The law of conservation of mass holds good for all of the following except=/ FETATA HEAT HT
s Bt & srama weft & oy v -

+ All chemical reactions/ T THATGw winfa & B
* Nuclear reactions / A far & fad

+ Endothermic reactions /| FwaTeiy ¥ffFar & @

» Exothermic reactions/ FsAmardt Finfar & o

Correct Answer :-Nuclear reactions / =i e & &
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